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Run 6125 quartetwise, PosHalAcci/NSamplas

=== Laser O -—

Entrie=: 51344
Mean: 150961 «/- DU0DED
St Dhew: 1.440% 0~ 00045

=== Lager OFF ---
Entrie=: 54905
Mean: 32672 «- 00019
Sbd Dey: 04511 - 00074
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Run 6125 quartatwize, Diffs)

=== Laser O -—

Entries: 51334
Mean: -0.7267 «/- QL0022
Sid Dhey: 0U5051 =~ D006

=== Laser OFF ---
Entries: 54985
Mean: -0.0277 <« 000G
Sid Dhey: 0L37AT 4 00071

Run 6125 quartetwise, Asymsl

=== Laser ON -—
Entries: 51344
Mean: -33.0Z27 /- 0.1014
Sid Dev: 229046 +- 0LOT1T

=== Laser OFF ---
Entries: 54905
Mean: -1.2612 «- DLOT2T
Sid Dev: 17,0502 4/~ L0&14
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Run 6125 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 51544
Mean: 14.6218 &/- DU00ET
Sid Dhev: 1.5074 & 00047

=== Lager OFF ---
Enlrie=: 54906
Mean: 3 2049 «/- 0.00149
Sid Dheyv: 04480 - 000714
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Run 6125 quartetwize, Sums0

=== Laser O -—-
Entries: 51344
Mean: 28.51080 +- 0.0128
Sid Dhey: 29048 & 0.0091

== Laser OFF ---
Entries: 54906
Mean: 6.5421 «/- 0.0035
Sid Dev: 0A1B4 & 00025
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Run 6125 quartetwise, PosHelAccd

— Lasar O —

trlnes: 31354

Masn: 32041318003 +- 1TVIES3ED
=5 D JREQEET AE00 £ 1ITTIBAE

— Lassar OFF —
frlnes: 340
Masn: IO 40T &0 28TV 184
S Dre: 57 PR EIEE +/- S114 08T

Run 6125 quartetwise, Diffgd
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— Lasar O —
tnlne: 31554
Maan: 2330315 5451 == 3110.14813
S [Ohire: TIOC129] 3457 =i TE48511

— L OFF —
trines: M0
Maan: 411720+ 230015
d Dwre: 1 IEFIED +- TEEAIRIE

Run 6125 quartetwise, Asymsd

=== Laser ON -—
Entries: 51344
Mean: -32 6806 +/- 0.0774
Sid Dev: 176305 +/- (LOGE0

=== Laser OFF ---
Entries: 54905
Mean: -0.6034 «- 00345
Sid Dey: B7TS &= 000247

Run 6125 quartetwise, NegHalAcc4

— Ly 0% —

Erlnen: 3134

Magn: IFIEIEILIIE - 1EIRAEV IS
25 Dwre: SMEETD 1Y &0 12TEE LT

— Lussar OFF —
Erines: 3400
Masn: TS 1E 780« 20E 0B
S [Dire: 871327, 2200 +'- 134 FIEE
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Run 6125 quartetwizse, Sumsd

— Ly 0% —

trlnea: 31544
Mann: PHEIETEBE]D w- 1S FLI1AT
Sid Dire: 7RSI 4400 &0 JEFLTEE

— Lumar OFF —
trmines: W0
Miaan: TE4E115. 0 T80 = B224.004
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Run 6125 quartetwise, Asyms USbg?
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=== Laser O -—

Entrie=: 51344
Mean: -0.00687 < DLOO2E
St Dhey: 0.5909 +~ 00078

=== Lager OFF ---
Entrie=: 54905
Mean: -0.0117 «/- 00026
Sid Dhey: 05912 =~ 00078
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Run 6125 quartetwize, Asyms Dsbg1
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=== Laser O -—

Entries: 51334
Mean: -0.00849 «/- 000049
St Dhey: 0L0E24 - D00

=== Laser OFF ---
Entries: 54985
Mean: -0.0087 «/- 00004
Sid Dhey: 0L0E24 - 00002

Run §125 quartetwise, Asyms Horiz Fingar

.3

=== Laser ON -—

Entries: 51344
Mean: -0.0080 «- 00012
Sid Drey: 020668 - 00008

=== Laser OFF ---
Entries: 54905
Mean: -0.0038 «- 00012
Sid Dhey: 03004 -~ 00009
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Run 5125 quartetwise, Asyms USbg2

=== Laser O -—-
Entries: 51544
Mean: -0.0078 - 0001 &
Sid Dhew: 0A02E & 00073

=== Lager OFF ---
Enlrie=: 54906
Mean: -0.00689 «- 00017
Sid Dhev: 0LA06T &~ 00072
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Run 6125 quartetwise, Asyms D5bg2
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=== Laser O -—-
Entries: 51344
Mean: -0.0097 «- 00003
Sid Deyv: 00759 & 00002

== Laser OFF ---
Entries: 54906
Mean: -0.0097 «/- 00003
Sid Dev: 007EY - 00002

Run 6125 quartetwise, Asyms Vert Finger

=== Laser O -—-
Entries: 51344
Mean: -0.0081 «- 00010
Sid Dev: 0386 &~ 0.0007

== Laser OFF ---
Entries: 54906
Mean: -0.0040 «- 00012
Sid Dhev: 03087 & 00009
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